dolall i gilil! aual ol polosi! §almis lns!

Jodl ygall = Yo AV/¥ VT sl yall polad
(Gyalani¥! Aall) Lol yuiiuiiad| : Skl |

(T
YAV /90 gyl
3 L . dakea (YA) sl 11 il s
‘ o et i Yo ¢ Gtk f ) Cilaien (£) i Vel i Vi
- e . daia | | ol s Ll (s g
Sl g aliaal . e
; 1 o s g a5l
il | geiy | S T "
iyl 900
e
duni] gud | oy
Oy AL ol udl f s

daka (YA ) dul Sl Galaied aas
il (£) b Yl i Vi

: u)'.a_>b_u ole Lozl

il el il Gl 3139

. b S|
ol 2 gl ]yl o] s ! ] gl oy

el el giuso cullal] 5l g Jo¥l sgall — Yo IV/¥e N ualyall plall
I ] ol g0 5Ll (b1 Al ) ol gl ¢ Btk
. Yo AY/3/90: guglall
‘ cage bl G Ailad! 9o
[ (Golyy) AU ol
; 3)‘.)}‘ :1 A-JJ_”
! dlod v = =)
.\ ¢ il e et Yol | g
b ¥ Gty il b e g

-Y

e alllal] o e Vo] i

CV/C1N Joll joadl - A alpoll dulinl) GA Juj



YAV/YNT al padf alall — 931 5gult — (s M1 ARU0) Ll phnd | — Aalad) dy g3l 2wl yold 1 ALS | Bl Olmial

1- Shade the circle of the symbol that I Sy 31 D13 3 00l -
represents the right answer fully. Modlal Asvuall dgla ¥ Lo
Sels

The region of the five lakes in the United

States of America is considered a core | o> Cl—endt @) —diay
A ot | B it SLaW et (B

(a heart) of great .............. importance. -
..............  Acad Oifs cul® Adkale
@  Political Al ()
(>  cultural e ()
(©  economic Alaidl ()
@ populous Aol @
2- How do you explain ... ? § oo puwdd @ -
The importance of remote sensing in Jlone B day (e Hladlu¥ ) Aedi

the field of political geography. - Aokt ) L) pant
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3- What are the results of : 1 ohe Culi )3 U AL Le =Y
Using the mountains as boundaries “J9 (et 3 9unS JLind ki

between countries.
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4- The economic blocs are new 5o AL OIS, - ¢
phenomena that go back to the O AN Ol ) a3 Adous>
beginning of the twentieth century. -y pal

Guided by the previous statement o il Adalutt 5 yluall 5 50 B
answer either (A) or (B) rdadd (1) 91 (1)

A- State to what extent the human and Cile gdal | AILETS Gda Sl (T Ak -
technological factors that are needed to | 4e) 4o o7 oS 9 Ay oldt
build the economic bloc are similar. - LalaY | SIS a L

B- From your point of view what are the | 0¥/ 2 Le: S A Aga g0 -0
positive and negative consequences of | ALBW doglaa¥iy Aol
the new world system on the developing | J9°' e 442! allall
countries. 13 ekl
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5- You have a base map of India and its
neighbouring countries. Look at it then
write the indication of each letter:

a- A main latitude line

gl o lao Alan 5 Elalel -0
1 1g B)glamedt JoI1 g

Adadgell B9t Jedde IS
e

t Aitie) § (3D e B 1D -

zmm'm-g

- -

c- A federal country

d- A country that hasn't signed on Warsa
Union

9wyl g al> e 2845 @ A9y -

e- An integrated (regular) country that has a
devited boundary towards another country.

<39 O3 Amadie A9 -2
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6- Prove geographically the correctness of | 5)Lal dxo e Ll a s -1

the following statement. s AGY
There are many factors that affect the | ¢! J-slsal! e dguall JLB,
future of the political world map. el ddag 5 Judius (le p9d

- A lud
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7- What are the results of : 1 ole Al yied) ZALE Lo -V
A country that is located in land and is | Juaii % g (ualdt J513 A3 £539
not connected with any open surfaces cAs glae Adle Olondaws b
of water.

8- Shade the circle of the symbol that 1T Sy 31 13 3 500 SIS -A
represents the right answer fully. IS Asusall Agla ¥ Lo

Shels
The most important differences ) B = )
between the nation and the country is A9ty a1 (s OLONLS Y b
.................................... ¢

(@)  theland w2¥ (D)

(b the authority e L ®)

(©  the population okt 3

(@  thearea e L)

7
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9- How do you explain ..... ¢ vl @ -4

Answer either (A) or (B) only dazd (0) o (1) e il

A- The problems of water that happen AR (ot Obeal ) OIS e Sy gt -
between some countries. -Jgad

B- The establlshlng of the common 5331 £33 Ol 9 5 L~
forces of El Gazira armour of the O9laTH ulomat AS 5 el
Co-operation Council of the Gulf Y
Countries .
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10- What is the relation between:

The astronomical location and the
power of the country.

oo US (ot ABMMalf L - ) ¢
SAT gl B9B g Slal) aB gl

11- Prove geographically the correctness
of this statement.

The advantages of the semi-presidental
system.

3 ybial) Ao ol L pi (13 -1 )
2@5"

oD ) A AR O joree SILD
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12- Write what does the following concept | ade Ju3 it asgaelt ISt -\ Y

refer to?

zZ,g"‘.\H 3\)\.}.1.“

The unity of two countries or more in | 213! =2 S8 9} (=l 92 ploasil,
a union that organizes it an agreement | $=8>J Legln 54blae delais

between them to achieve common aims. |

A ylaad Ayl g AS J i Olale

The two countries agree to practise 4258 pa Abalu (11 g3l i g2y

some of their benefits to a common ,
centeralized authority while keeping the |
identity and sovereignty of each of them. |

| Adgy JS BLais) e AS i
53 Ly |ksmnitiy

13- Shade the circle of the symbol that : JIY e 31 Ol 300l St -\ Y

represents the right answer fully. ol LA Asvouall Al ¥ e
One of the most famous muslim | SO (pmtolusalt ¢ lole pgdl (s
scientists that added a lot to the | eeien A1 pant| HSalt | 308 ol
geographic thoughts is........ .
(@)  Ibn Sina ' Lew ot (D)
(b  Gaber Ibn Hayan O s (©Q
(©  El-Makrizi | REE NS
(@  Ibn Khaldoon IR ©)

14- What does the following concept refer t0? | dude Ju3 it pggael ciSI -\ ¢

"The piece of land that a country-with
specified evident and internationally

1 AGY 3 ket

| '2\33..\3! Mglﬂ o.éjs" M)))
' Audl g Amewbow 3 gl Badoal |

well known boundaries-is occupying.' -k 93 Lgy (8 yima g @l laal
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15- What happens if ... ? § e 13 Sty 13Le -V 0
The international organizations and | ©leldielly Oluwuiell pigs @t

establishments didn't care about the ~CdB Grpdions Fud il
rights of the minorties.

16- What are the results of: ¢ oo A yial) LG Lo -\

The climatic changes that the countries | L6344 1 4z Lialt Of pod !
of west Africa witnessed in the seventies ""‘«""»“'t"f" ‘ej" “-u“‘f{’" f:’: ng‘
and eighties of the twentieth century. ~Omdal) & a1 Crlidlen

11
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17- Shade the circle of the symbol that | AT bt D13 3l S Y
repreernts the right answer fully. | s Aovosual! Al ¥ Lo
Ohels

Sharing in the administration of the , . .
central affairs in the federal country is | 09=& 3.3l 8 AS,Lael

the right of ........ccceveueuenee. . o Adydaalt Aol 2 3:'}5)?’ ‘
...... o>

@ the central government | 43S yol !l Ao gSmt | @
@ the local authorities ' Cadoad | Olkatedd @
(©)  the people | caddl @
@ the legal authority | cAan pald ) At @

18- Write what does the following concept | ade Jui5 i3 pggaalt S| -\A
refer to? ‘  AGY 3 ylaaly

A social system that plays different 12193y pedy eldat LI,
roles and does a variety of functions Fedl lsuiniitinie 20849
depending on an authority which it uses | 22" 22'>! e zf""‘“
to administer the society resources. R

CV/C1N Joll jgaJl - A alpoll dulihl) GA Juj



YOAV/Y VT gty alall — 931 5gull — (o M1 AR Lyt | — Aualad) 2y g3 el yoll ALl Bl (el

19- Prove the correctness of the following 13 ylatt Ao e S -1 4
statement, J 9t (o A 9ul11 SLBMal) & el
The international relations appeared among - lawst g Aedddl! jguaat) B

the countries in the ancient and middle ages.

20- How do you explain ...? § e pwdi @l -Ye
The self sufficiency of basic food of a country ulu¥ g |0 e (51 ¢ LITEYY,
exempts it from the external pressures. Ay do gl (e lgaay AT gult

13
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21- Shade the circle of the symbol that JIATY 50 S35 0l Sl - Y
represents the right answer fully. Mdlal Aol Aoyl ¥ ol
Sels

The third industrial revolution is the - ) .
........ revolution. Agigii e luall Agqilf
....... : 3)3.‘40 ‘?A
(@)  informational Adleglast! ()
@ nuclear ~43994! @
(©  electronic A0, SIY ()
@  electric Al (5
22- What is the relation between: 1(v0 :\S O A8Mat Le =YY
The political boundary and the A gl 5L g s lewd ) Asnt

sovereignty of the country.

14
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23- What happens if .... ? e 13 Sty 13Le - XY
The river changes its course direction. <0152 by 4dI L3

24- What are the factors and the elements | 553 ,wlicg slayl) & Lo -Y¢
of the country power? ST gt

15
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25- How do you explain ..... ? LW B uwdd @3 -YO
Answer either (A) or (B) rdadd (@) of (1) e oo
. R
A- Spain insisted on dominating on Septa oo """“*““f L L‘{":"‘“' "“L'““" '
- cAldeg Aiw e

and Milila. #Ag e
B- The military unions are a mean through | 4wy 4o Suwall DAY, - o
which some countries in a specified i s digaa 93 L Lanls
place form to achieve certain aims. - e BIAB) Goand HlSe
Clarify the regional and the o e daN 19 (S gl ¥ il

international effects of the NATO. -5l

16
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26- Prove geographically the correctness | 5 lal dowo e Ll pas J1a -Y1

of this statement. s AGY
The international system is A gty oot lall AR ey

distinguished by being comprehensive.

17
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27- How do yo explain .... ? §eve pwdd @3 =YV

Answer either (A) or (B) dazd () 9 (1) e e

A- The countries guard the flow of goods | s tut Gaus Joudt cBi,5 - |

through the political boundaries. R W VA (FYREE (Or-F S TP [
B- The importance of strategic locations.

SAn G Y ) 28 getf dredi - o

18
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28- Shade the circle of the symbol that
represents the right answer fully.

Japan transfered its capital from the
in land city of Keyouto to ...........

Heroshima
Keyousho
Nagazaki

®OeE

Tokyo

29- What are the results of:

The availability of the forests in a
certain country.

JIAM 3ot SN 3 oA LB - YA
Modlal Aomonall Al e

Sals

Ao e Leiausle HLald) colss
...... ke (1 s 11 308
beciigra (1)

1ole A0 pled) Fa Lt Lo - YA
cAdme A gy A OLLal 5,0y

CV/C1N Joll jgadl - A alpoll Gl GA Juj
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30- Compare between: 1008 dS Ot (L8 Y
Answer either (A) or (B). rdadd () 9f (1) e

A- The human boundaries and geometric | Ao idly dwdigh sgdtt - |

boundaries (Ethnographic). (A2 52 501)
B- The regionl water and the internal slcally AcadBY) olcall -
water. P WIE N |

20
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31- Prove geographically the correctness
of this statement.

There are a lot of negative points for
the countries of small areas.

3ylial! Ao ol LI yi (13 ¥
zz.u:?‘

A Luadt 013 J 9l Srlickas S3La,
(B puducal |

32- Write what does the following concept
refer to?

The conveyance and transfering of a
person from one country to another
illegally and not through the right ways
that organize this conveyance of people
among countries.

dide JuS (SN pggaall ST VY
L AL 3 yleal

Gl I AT 9a (pe padd JLED,
Iy g At ) ABLGT il (e
JED QIAG 1 Adg3LE (3 platt

cJ 9N (0 ol

21
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33- What are the results of: 1 oA AG ylad! L Lo Y'Y
The necklace of the Soviet Union e@gud! ALaiY) Ude dof a0
and the eastern bloc is spread and -4 ) ALty
separated.

34- Write what does the following concept | dade Ju5 S0t aggael) LTSI -YE
refer to? +3 ylaal
The capitals that their governments oan Cusd N palsalhy
decided to be transfered from their O-a 11 LS Lal (s Lglds OlagSdt
places to other cities for one reason or ~ g o 6 55
another.
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35- Shade the circle of the symbol that
represents the right answer fully.

The European Union is established on
two basis which are.............

the racial and regional origin

the language and history

the balance between the political and
military forces

® 0 6

the prevailing of the law and
democracy

JIAT 301 S0 3,508 Sl -¥'0
Modial dovouall dalaM e

ORlly Bl Jo¥t ()
NP

PELLIPY Fpig @

Ay Suwall 55211 05185 (D)
SAulendty

O9oLatt Babew @

Jdolyaeaaldly

36- What is the relation between:

The industrial production and the
country power.

2
100 JS (e A80Mal! La =Y
SA 9N 5989 e luall Z LN

CV/C1N Joll jgadl - A aljoll Gl GA Juj
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37- What happens if .... ?

The developing countries gave due
care to education and technology.

S eee 131 oy 13Le YV

Adalllhy dwld) Joddl oot
- L gl 438500 9

38- Prove geographically the correctness
of the following statement.

The energy and power resources are
the most important ones that disputes
are raised for.

3 ylaat) Ao e LI yaa 13 -FA
274..53?‘

(A1 3 9att @A (pe ABUall 2yl gay
g el Lgh g gy
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39- How do you explain ... ? § el @3 -Y4
Answer either (A) or (B) b () 51 (1) e e

A- The age structure of the population
is one of the most important factors

|
| Ao OISl (§ pandt CuS U day -

of strengthening or weakening the . eaacs g Ated!t 553 Jefge
country. LSBT (B elall AUET @A lu - o

B- The scientific development contributed AL ol Faliadt o3 e
in-minimizing the bad effects of the, . .| 153! o @dull ChallSlos
climate in the country.

40- Shade the circle of the symbol that | 1AM et 13 3t Sl - €
represents the right answer fully. | liaS dovoual! dala ¥ e
The largest contienent that include | , -Jhals
imprisioned countries is ............ | At W 93 @uiall (A Sl yLat ST

............ 15yL8

@  Asia | 97 (D

b  Africa Layal

(©  North America ' Adleat el S

@ Europe ‘ gy @

25
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